20185t A 1A 19 O =A

&= 2] 20 AR
1 |g z! =&T XS 4,900 | 4,900
2 223 A& 9,500 9,500
OlgtF X8, ZAHH 18 9,500 9,500
429 X3 ddz 28 9,000 9,000
Oftt A=Z0| Cf wrztrt ZAlgl X[g, oj&dg 13 11,000 | 11,000
g2 =238, 5% 4 11,000 | 11,000

CIClof gH] =, otEg|A
oo 18 42 &4 11,000 | 11,000

o2l 27k-ef & =218,
9o g 8,500 8,500
O|43 X|&, %€ 1 9,500 9,500
2470] E7| OFXM 472 =318 12,000 | 12,000
Ol X[Z, gxlF & 10,000 | 10,000
g5 NS gy o I8 10,500 | 10,500

. ELElﬁE|II_|- FHA u1I|E|O|E|- &
oo AH 77 TEA =] M
427}X| Oh-g9o M2 2hot u'x|o|9§7| = 13,000 | 13,000
0 - — 20 &

H2|7} ZOIX|= fe2l+E X8 &8F 1Y 12,000 | 12,000

AAas| X g, F25 18,
SHSE MY2 £50| Ha SERYYSAT =T uALR 10,000 | 10,000
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51 sy Xg SH| 9,800 | 9,800
52 ATF = A CHEM & 12,000 | 12000
53 Mg o 2MY 2« X8, Zol= 18 L 7,500 | 7,500
54 , XIX| ENR 7E X& oldd ad Z2M0{ 20| 8500 8500
55 HFQ|Lt2|Q} of 7| oS XS @Y 18 450{zlo 12.000 12.000
56 | 3tEQt 0| ZSPNPNE = 0 L = =ets4[0{2lo 11.000 | 11.000
57 | 27tAtE|2 7|3 fY2 XS N ES! 1 10,000 | 10,000 | 2
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